(7) EEMIIZHIT5BODMMEIER

Fall
4
= fSM2EE € $HTEE
3 |
3
=
E?]
Ja)
o)
@1 - = e W |
0 Il Il Il Il Il Il Il Il Il
0 2 4 6 8 10 12 14 16 18 20
'\‘ ‘ FHER NS D BB (km)
# oW
1% )I] =+ & @ B X
s B EH )R B
g A non o B
7k ) # 7K 7
B n B L
=N
4
= 4M2EE € SHTEE
3 |-
3
= 2T
E
a
O 4
2 ﬁzﬁa\g_kkéa\!
& &
0 Il Il Il Il Il Il Il
40 50 60 70 80
TR AS D FE B (km)
MNMETERE B X | B 7 £
SRR N w AE S G| &
e IR il i

JIER )
J



BOD(mg/L)

—_

BOD(mg/L)

RN

= SHM2EE € SHTEE

E/E

—— ¢
10 20 30 40 50
‘ FFE R AND O ZER (km)
F 1 # £
=} =] S 3
n n n n
HEII
B2 $HM2E&E € SHTEE
% . .
20 60 80 100 120
‘ FFEE RS O BB Rt (km)
BEMEL | BN x [=PN
JIEANIERTT 1| ® B %
Jign e Jil I 4
i N



